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1. Smith Company purchased $105,000 of computer equipment from Brown Company.  Smith Company paid for the equipment using cash that had been obtained from the initial investment by Connie Smith. The transaction involving the computer equipment should be recorded on the accounting records of which of the following entities?

	a.
	Smith Company and Connie Smith's personal records

	b.
	Brown Company and Connie Smith's personal records

	c.
	Only on Brown Company

	d.
	Smith Company and Brown Company


2. The Reynolds Company estimated that the value of its land had increased from $10,000 to $16,000 and therefore wrote up the land account to $16,000.  Which accounting concept(s) was violated?

	a.
	cost concept

	b.
	objectivity concept

	c.
	all of the above

	d.
	none of the above


3. Equipment with an estimated market value of $45,000 is offered for sale at $65,000. The equipment is acquired for $10,000 in cash and a note payable of $40,000 due in 30 days.  The amount used in the buyer's accounting records to record this acquisition is:

	a.
	$50,000

	b.
	$65,000

	c.
	$10,000

	d.
	$45,000


4. The accounting equation may be expressed as:

	a.
	Assets = Equities – Liabilities

	b.
	Assets + Liabilities = Owners Equity

	c.
	Assets = Revenues less Liabilities

	d.
	Assets - Liabilities = Owners Equity


5. Revenues are reported when:

	a.
	a contract is signed

	b.
	cash is received from the customer

	c.
	work is begun on the job

	d.
	work is completed on the job


6. Expenses are recorded when:

	a.
	cash is paid for services rendered

	b.
	a bill is received in advance of services rendered

	c.
	services rendered

	d.
	none of the above


7. If total liabilities decreased by $25,000 during a period of time and owners equity increased by $30,000 during the same period, the amount and direction (increase or decrease) of the period's change in total assets is:

	a.
	$65,000 increase

	b.
	$5,000 decrease

	c.
	$5,000 increase

	d.
	$65,000 decrease


8. If total assets decreased by $47,000 during a period of time and owners equity increased by $24,000 during the same period, then the amount and direction (increase or decrease) of the period's change in total liabilities is:

	a.
	$23,000 increase

	b.
	$47,000 decrease

	c.
	$71,000 decrease

	d.
	$71,000 increase


9. How does paying dividends with cash affect the business accounting equation?

	a.
	decrease assets; decrease owners’ equity

	b.
	decrease assets; increase owners’ equity

	c.
	increase assets; decrease liabilities

	d.
	There is no effect on the assets, liabilities, or owners’ equity.


10. On November 1 of the current year, the assets and liabilities of Jim Chu, M.D., are as follows: Cash, $10,000; Accounts Receivable, $8,200; Supplies, $1,050; Land, $25,000; Accounts Payable, $6,530. What is the amount of the stockholders' equity (Jim Chu's capital) as of November 1 of the current year?

	a.
	$37,720

	b.
	$44,430

	c.
	$21,500

	d.
	$48,780


11. Al Shea is the sole owner and operator of SawTooth Company.  As of the end of its accounting period, December 31, 2005, SawTooth Company has assets of $925,000 and liabilities of $285,000.  During 2006, al Shea invested an additional $50,000 and paid dividends of $30,000 from the business. What is the amount of net income during 2006, assuming that as of December 31, 2006, assets were $980,000, and liabilities were $255,000?

	a.
	$ 95,000

	b.
	$ 65,000

	c.
	$165,000

	d.
	$725,000


12. The total assets and the total liabilities of a business at the beginning and at the end of the year appear below.  During the year, dividends of $50,000 were paid and an additional investment of $35,000 was made in the business.

	
	Assets
	Liabilities

	Beginning of year
	$295,000
	$190,000

	End of year
	 355,000
	 220,000


The amount of net income for the year was:

	a.
	$85,000

	b.
	$40,000

	c.
	$135,000

	d.
	$45,000


13. If beginning capital was $65,000, ending capital is $43,000, and dividends were $16,000, the amount of net income or net loss was:

	a.
	net income of $37,000

	b.
	net income of $8,000

	c.
	net loss of $22,000

	d.
	net loss of $6,000


14. All other things being equal, a bank would most likely prefer to lend to a company with a debt to stockholders' equity ratio of:

	a.
	0.30

	b.
	1.00

	c.
	0.15

	d.
	2.00


The following financial statements relate to question 15 – 20


Ross Consultants began operations on December 1, 2005.  The financial statements for Ross Consultants are shown below for the month ended December 31, 2005 (the first month of operations).  Determine the missing amounts for numbers (15) through (20) using the possible solutions on page 5.
	Ross Consultants

Income Statement

For the Month Ended December 31, 2005

	Fees earned
	
	$20,000

	Operating expenses:
	
	

	  Wages expense
	$6,250
	

	  Rent expense
	(15)
	

	  Supplies expense
	1,600
	

	  Utilities expense
	900
	

	  Miscellaneous expense
	 1,550
	

	Total operating expenses
	
	    (16)

	Net income
	
	$   (17)

	
	
	=======


	Ross Consultants

Retained earnings Statement

For the Month Ended December 31, 2005

	Retained earnings, December 1, 2005
	
	0

	Net income for December
	    (18)
	

	
	$   (19)
	

	Less dividends
	  4,000
	

	Increase in retained earnings
	
	    (20)

	Retained earnings, December 31, 2005
	
	$2,100

	
	
	=======


	Ross Consultants

Balance Sheet

December 31, 2005

	Assets
	
	Liabilities
	

	Cash
	$   ???
	Accounts payable
	$  ???

	Supplies
	 1,100
	Stockholders Equity
	

	Land
	    ???
	Capital stock
	$30,000

	Total assets
	$45,900
	Retained earnings
	   ???

	
	=======
	Total liabilities, stockholders equity
	$  ???

	
	
	
	======


	Ross Consultants

Statement of Cash Flows

For the Month Ended December 31, 2005

	Cash flows from operating activities:
	
	

	  Cash received from customers
	$20,000
	

	  Deduct cash payments for expenses and payments to creditors
	  1,200
	

	Net cash flow from operating activities
	
	$ 18,800

	Cash flows from investing activities:
	
	

	  Cash payments for acquisition of land
	
	(20,000)

	Cash flows from financing activities:
	
	

	  Cash received from issuing capital stock
	$    ???
	

	  Deduct cash dividends
	     m
	

	Net cash flow from financing activities
	
	     ???

	Net cash flow and Dec. 31, 2005 cash balance
	
	$    ???

	
	
	========


Possible solutions for 15 – 20
	a.
	$0

	b.
	$2,100

	c.
	$3,100

	d.
	$3,600

	e.
	$4,000

	f.
	$5,100

	g.
	$6,100

	h.
	$13,800

	i.
	$13,900

	j.
	$15,100

	k.
	$24,800

	l.
	$24,800

	m.
	$26,000


21. One of the statements below is not a purpose for the journal

	a.
	to show increases and decreases in accounts

	b.
	to show a chronological order by date

	c.
	to show a complete transaction in one place

	d.
	to help locate errors


22. A debit may signify a(n):

	a.
	decrease in asset accounts

	b.
	decrease in liability accounts

	c.
	increase in the capital stock account

	d.
	decrease in dividends account


23. Which of the following applications of the rules of debit and credit is true?

	a.
	decrease Prepaid Insurance with a credit and the normal balance is a credit

	b.
	increase Accounts Payable with a credit and the normal balance is a debit

	c.
	increase Supplies Expense with a debit and the normal balance is a debit

	d.
	decrease Cash with a debit and the normal balance is a credit


24. The classification and normal balance of the accounts payable account is:

	a.
	an asset with a credit balance

	b.
	a liability with a credit balance

	c.
	stockholders' equity with a credit balance

	d.
	revenue with a credit balance


25. The classification and normal balance of the dividends account is:

	a.
	an expense with a credit balance

	b.
	an expense with a debit balance

	c.
	a liability with a credit balance

	d.
	stockholders' equity with a debit balance


26. A credit balance in which of the following accounts would indicate a likely error?

	a.
	Fees Earned

	b.
	Salary Expense

	c.
	Capital Stock

	d.
	Accounts Payable


27. Which of the following entries records the receipt of a utilities bill from the water company?

	a.
	debit Utilities Expense; credit Accounts Payable

	b.
	debit Utilities Payable; credit Accounts Receivable

	c.
	debit Accounts Payable; credit Cash

	d.
	debit Accounts Payable; credit Utilities Payable


28. Office supplies purchased by J's Appliance Repair on account were returned.  Which of the following entries for J's Appliance Repair records this transaction?

	a.
	Cash, debit; Office Supplies, credit

	b.
	Office Supplies, debit; Accounts Receivable, credit

	c.
	Accounts Payable, debit; Office Supplies, credit

	d.
	Office Supplies, debit; Accounts Payable, credit


29. Which of the following entries records the payment of rent for the current month?

	a.
	Cash, debit; Rent Expense, credit

	b.
	Rent Expense, debit; Cash, credit

	c.
	Rent Expense, debit; Accounts Receivable, credit

	d.
	Accounts Payable, debit; Rent Expense, credit


30. Which of the following entries records the billing of patients for services performed?

	a.
	Accounts Receivable, debit; Fees Earned, credit

	b.
	Accounts Payable, debit; Cash, credit

	c.
	Fees Earned, debit; Accounts Receivable, credit

	d.
	Fees Earned, debit; Cash, credit


31. Which of the following entries records the collection of cash from cash customers?

	a.
	Fees Earned, debit; Cash, credit

	b.
	Fees Earned, debit; Accounts Receivable, credit

	c.
	Cash, debit; Fees Earned, credit

	d.
	Accounts Receivable, debit; Fees Earned, credit


32. Which of the following entries records the receipt of cash for two months' rent? The cash was received in advance of providing the service.

	a.
	Prepaid Rent, debit; Rent Revenue, credit.

	b.
	Cash, debit; Unearned Revenue, credit.

	c.
	Cash, debit; Prepaid Rent, credit.

	d.
	Cash, debit; Rent Expense credit.


33. A patient has a physical examination and asks the bookkeeper to mail the bill.  The bookkeeper should:

	a.
	make no entry until the cash is received

	b.
	debit cash and credit accounts receivable

	c.
	debit cash and credit fees earned

	d.
	debit accounts receivable and credit fees earned


34. Proof that the dollar amount of  debits equals the dollar amount of credits in the ledger means:

	a.
	all of the information from the journal was correctly transferred to the ledger

	b.
	all accounts have their correct balances in the ledger

	c.
	only the journal is accurate; the ledger may be incorrect

	d.
	only that the debit dollar amounts equal the credit dollar amounts


35. A trial balance is prepared to:

	a.
	prove that there were no errors made in recording transactions into the journal.

	b.
	prove that no errors were made in posting to the ledger.

	c.
	prove that each account balance is correct.

	d.
	summarize the account balances as a help to preparing financial statements.


36. An overpayment error was discovered in computing and paying the wages of a Bartson Repair Shop employee.  When Bartson receives cash from the employee for the amount of the overpayment, which of the following entries will Bartson make?

	a.
	Cash, debit; Wages Expense, credit

	b.
	Wages Payable, debit; Wages Expense, credit

	c.
	Wages Expense, debit, Cash, credit

	d.
	Cash, debit; Wages Payable, credit


37. When a transposition error is made on the trial balance, the difference between the debit and credit totals on the trial balance will be:

	a.
	zero

	b.
	twice the amount of the transposition

	c.
	one-half the amount of the transposition

	d.
	divisible by 9


38. Which of the following errors, each considered individually, would cause the trial balance totals to be unequal?

	a.
	a transaction was not posted

	b.
	a payment of $96 for insurance was posted as a debit of $46 to Prepaid Insurance and a credit of $46 to Cash

	c.
	a payment of $311 to a creditor was posted as a debit of $3,111 to Accounts Payable and a debit of $311 to Accounts Receivable

	d.
	cash received from customers on account was posted as a debit of $140 to Cash and a credit of $140 to Accounts Payable


39. Supplies purchased on account were incorrectly recorded as Office Equipment.  The correcting entry would be

	a.
	Supplies, debit; Office Equipment, credit.

	b.
	Accounts receivable, debit; Supplies, credit.

	c.
	Office Equipment, debit; Supplies Expense, credit.

	d.
	Supplies, debit; Accounts Payable, credit.


40. The results of a horizontal analysis shows that revenue increased a greater percentage than wages expense. A possible explanation might be that:

	a.
	revenue decreased while wages decreased

	b.
	more revenue was generated than wages expense to generate the revenue

	c.
	revenue increased, but wage expense increased proportionately more

	d.
	labor is now more expensive than it was earlier


41. Using accrual accounting, revenue is recorded and reported only:

	a.
	when cash is received without regard to when the services are rendered

	b.
	when the services are rendered without regard to when cash is received

	c.
	when cash is received at the time services are rendered

	d.
	if cash is received after the services are rendered


42. If the effect of the debit portion of an adjusting entry is to increase the balance of an expense account, which of the following describes the effect of the credit portion of the entry?

	a.
	decreases the balance of an stockholders' equity account

	b.
	increases the balance of an liability account

	c.
	increases the balance of an asset account

	d.
	decreases the balance of an expense account


43. If the effect of the credit portion of an adjusting entry is to increase the balance of a liability account, which of the following describes the effect of the debit portion of the entry?

	a.
	increases the balance of a contra asset account

	b.
	increases the balance of an asset account

	c.
	decreases the balance of an stockholders' equity account

	d.
	increases the balance of an expense account


44. The primary difference between deferred and accrued expenses is that deferred expenses have:

	a.
	been incurred and accrued expenses have not

	b.
	not been incurred and accrued expenses have been incurred

	c.
	been recorded and accrued expenses have not been incurred

	d.
	not been recorded and accrued expenses have been incurred


45. Adjusting entries affect at least one:

	a.
	income statement account and one balance sheet account

	b.
	revenue and the drawing account

	c.
	asset and one owner's equity account

	d.
	revenue and one capital account


46. Which account would normally not require an adjusting entry?

	a.
	wages expense

	b.
	accounts receivable

	c.
	accumulated depreciation

	d.
	capital stock


47. Which one of the accounts below would likely be included in an accrual adjusting entry?

	a.
	insurance expense

	b.
	prepaid rent

	c.
	interest expense

	d.
	unearned rent


48. The balance in the prepaid rent account before adjustment at the end of the year is $15,000, which represents three months' rent paid on Dec 1.  The adjusting entry required on Dec31 is:

	a.
	debit Rent Expense, $5,000; credit Prepaid Rent, $5,000

	b.
	debit Prepaid Rent, $10,000; credit Rent Expense, $5,000

	c.
	debit Rent Expense, $10,000; credit Prepaid Rent, $5,000

	d.
	debit Prepaid Rent, $5,000; credit Rent Expense, $5,000


49. The balance in the office supplies account on June 1 was $5,200, supplies purchased during June were $2,500, and the supplies on hand at June 30 were $2,000.  The amount to be used for the appropriate adjusting entry is:

	a.
	$4,500

	b.
	$2,500

	c.
	$9,700

	d.
	$5,700


50. What is the proper adjusting entry at June 30, the end of the fiscal year, based on a prepaid insurance account balance before adjustment, $15,500, and unexpired amounts per analysis of policies, $4,500?

	a.
	debit Insurance Expense, $4,500; credit Prepaid Insurance, $4,500

	b.
	debit Insurance Expense, $15,500; credit Prepaid Insurance, $15,500

	c.
	debit Prepaid Insurance, $11,500; credit Insurance Expense, $11,500

	d.
	debit Insurance Expense, $11,000; credit Prepaid Insurance, $11,000


51. A business pays weekly salaries of $20,000 on Friday for a five-day week ending on that day.  The adjusting entry necessary at the end of the fiscal period ending on Thursday is:

	a.
	debit Salaries Payable, $16,000; credit Cash, $16,000

	b.
	debit Salary Expense, $16,000; credit Cash, $16,000

	c.
	debit Salary Expense, $16,000; credit Salaries Payable, $16,000

	d.
	debit Salary Expense, $16,000; credit Accounts Payable, $16,000


52. The balance in the prepaid insurance account before adjustment at the end of the year is $10,000.  If the additional data for the adjusting entry is (1) "the amount of insurance expired during the year is $8,500," as compared to additional data stating (2) "the amount of unexpired insurance applicable to a future period is $1,500," for the adjusting entry:

	a.
	the debit and credit amount for (1) would be the same as (2) but the accounts would be different

	b.
	the accounts for (1) would be the same as the accounts for (2) but the amounts would be different

	c.
	the accounts and amounts would be the same for both (1) and (2)

	d.
	there is not enough information given to determine the correct accounts and amounts


53. The net income reported on the income statement is $90,000.  However, adjusting entries have not been made at the end of the period for supplies expense of $2,700 and accrued salaries of $1,300.  Net income, as corrected, is:

	a.
	$87,300

	b.
	$90,000

	c.
	$88,700

	d.
	$86,000


54. A company purchases a one year insurance policy on June 1 for $840.  The adjusting entry on December 31 is

	a.
	debit, insurance expense, $350 and credit, prepaid insurance, $350

	b.
	debit, insurance expense, $280 and credit, prepaid insurance, $280

	c.
	debit, insurance expense, $490, and credit, prepaid insurance, $ 490.

	d.
	Debit, prepaid insurance, $720, and credit, cash, $720


55. If the prepaid rent account before adjustment at the end of the month has a debit balance of $1,600, representing a payment made on the first day of the month, and if the monthly rent was $800, the amount of prepaid rent that would appear on the balance sheet at the end of the month, after adjustment, is:

	a.
	$800

	b.
	$400

	c.
	$2,400

	d.
	$1,600


56. If there is a balance in the unearned subscriptions account after adjusting entries are made, it represents a(n):

	a.
	asset

	b.
	accrual

	c.
	liability

	d.
	revenue


57. Which of the following pairs of accounts could not appear in the same adjusting entry?

	a.
	service revenue and unearned revenue

	b.
	interest income  and interest expense

	c.
	rent expense and prepaid rent

	d.
	salaries payable and salaries expense


58. The unearned rent account has a balance of $40,000.  If $3,000 of the $40,000 is unearned at the end of the accounting period, the amount of the adjusting entry is:

	a.
	$3,000

	b.
	$40,000

	c.
	$37,000

	d.
	$43,000


59. At the end of the fiscal year, the usual adjusting entry to prepaid insurance to record expired insurance was omitted.  Which of the following statements is true?

	a.
	total assets at the end of the year will be understated.

	b.
	stockholders' equity at the end of the year will be understated.

	c.
	net income for the year will be overstated.

	d.
	insurance Expense will be overstated.


60. At the end of the fiscal year, the usual adjusting entry for depreciation on equipment was omitted.  Which of the following statements is true?

	a.
	Total assets will be understated at the end of the current year.

	b.
	The balance sheet and income statement will be misstated but the retained earnings statement will be correct for the current year.

	c.
	Net income will be overstated for the current year.

	d.
	Total liabilities and total assets will be understated.


61. Which one of the steps below is not aided by the preparation of the worksheet?

	a.
	preparing the adjusted trial balance

	b.
	posting to the general ledger

	c.
	preparing the financial statements

	d.
	preparing the closing entries


62. The difference between the totals of the debit and credit columns of the Adjusted Trial Balance columns on a worksheet:

	a.
	is the amount of net income or loss

	b.
	indicates there is an error on the worksheet

	c.
	is not unusual when preparing the worksheet

	d.
	is the net difference between revenue, expenses, and drawing


63. Which of the accounts below would appear in the balance sheet columns of the worksheet?

	a.
	Rent Earned

	b.
	Dividends

	c.
	Unearned Revenue

	d.
	Both (b) and (c)


64. An indication that the worksheet columns are in balance and the worksheet is completed is:

	a.
	the word "Total" is written at the bottom of each pair of columns

	b.
	each pair of columns is double underlined

	c.
	each pair of columns has the totals circled

	d.
	the final figures are written in ink


65. After all of the account balances have been extended to the Balance Sheet columns of the worksheet, the totals of the Debit and Credit columns are $25,250 and $21,825, respectively. What is the amount of net income or net loss for the period?

	a.
	$3,425 net income

	b.
	$25,250 net loss

	c.
	$3,425 net loss

	d.
	$21,825 net income


66. After all of the account balances have been extended to the Income Statement columns of the worksheet, the totals of the debit and credit columns are $87,500 and $98,300, respectively. What is the amount of the net income or net loss for the period?

	a.
	$10,800 net income

	b.
	$10,800 net loss

	c.
	$98,300 net income

	d.
	$87,500 net loss


67. When preparing the retained earnings statement, the beginning  balance can always be found:

	a.
	in the Income Statement columns of the worksheet

	b.
	in the statement of cash flows

	c.
	as the first amount listed

	d.
	in the balance sheet columns of the worksheet


68. Notes Receivable due in 345 days appears on the:

	a.
	balance sheet in the current assets section

	b.
	balance sheet in the fixed assets section

	c.
	balance sheet in the current liabilities section

	d.
	income statement as an expense


69. Which one of the fixed asset accounts listed below will not have a related contra asset account?

	a.
	Office Equipment

	b.
	Land

	c.
	Delivery Equipment

	d.
	Building


70. On which financial statement will Income Summary be shown?

	a.
	Retained Earnings Statement 

	b.
	Balance Sheet

	c.
	Income Statement

	d.
	No financial statement


71. Closing entries:

	a.
	need not be journalized if reversing entries are prepared

	b.
	need not be posted if the financial statements are prepared from the worksheet

	c.
	are not needed if adjusting entries are prepared

	d.
	must be journalized and posted


72. Closing entries are dated in the journal as of:

	a.
	the date they are actually journalized, although they are generally prepared after the end of the accounting period

	b.
	the last day of the accounting period, although they are actually journalized after the end of the accounting period

	c.
	the first day of the accounting period, although they are actually journalized after the end of the accounting period

	d.
	the first day of the subsequent accounting period


73. Which of the following accounts will not be closed to Income Summary at the end of the fiscal year?

	a.
	Salaries Expense

	b.
	Fees Earned

	c.
	Unearned Rent

	d.
	Depreciation Expense


74. The entry to close the appropriate insurance account at the end of the accounting period is: 

	a.
	debit, Income Summary; credit Prepaid Insurance

	b.
	debit, Prepaid Insurance; credit Income Summary

	c.
	debit, Insurance Expense; credit Income Summary

	d.
	debit, Income Summary; credit Insurance Expense


75. Which of the following accounts ordinarily appears in the post-closing trial balance?

	a.
	Dividends

	b.
	Supplies Expense

	c.
	Fees Earned

	d.
	Unearned Rent


76. The post-closing trial balance differs from the adjusted trial balance in that it:

	a.
	does not take into account closing entries

	b.
	does not take into account adjusting entries

	c.
	does not include balance sheet accounts

	d.
	does not include income statement accounts


77. The following accounts were taken from the Adjusted Trial Balance columns of the worksheet:

	Accumulated Depreciation
	$ 2,000

	Fees Earned
	15,000

	Depreciation Expense
	1,000

	Insurance Expense
	500

	Prepaid Insurance
	4,500

	Supplies
	1,200

	Supplies Expenses
	3,500


Net income for the period is:

	a.
	$2,300

	b.
	$10,000

	c.
	$4,300

	d.
	$5,000


78. A summary of selected ledger accounts appear below for Ted's Auto Services for the 2006 calendar year end.

	Retained Earnings

	12/31
	7,000
	1/1
	5,000

	
	
	12/31
	17,000

	
	
	
	

	Dividends

	6/30
	2,000
	12/31
	7,000

	11/30
	5,000
	
	

	
	
	
	

	Income Summary

	12/31
	15,000
	12/31
	32,000

	12/31
	17,000
	
	


Net income for the period is:

	a.
	$17,000

	b.
	$22,000

	c.
	$7,000

	d.
	$15,000


79. A fiscal year:

	a.
	ordinarily begins on the first day of a month and ends on the last day of the following twelfth month

	b.
	for a business is determined by the federal government

	c.
	always begins on January 1 and ends on December 31 of the same year

	d.
	should end at the height of the business's annual operating cycle


80. A current ratio of 4.3 means that:

	a.
	there are $4.30 in current assets available to pay each dollar of current liabilities.

	b.
	the company cannot pay its debts as they come due

	c.
	there are $4.30 in current assets for every $4.30 in current liabilities

	d.
	there are $4 in current assets for every $3 in current liabilities


THE END
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